
SAP ABAP table BIW_WAKH_S {Provider Structure for Promotion Data from WAKH}

BIW_WAKH_S

MANDT [CLNT (3)]

AKTYP [CHAR (4)]

AKART [CHAR (4)]

WAELA [CUKY (5)]

WAERA [CUKY (5)]

VGLAK [CHAR (10)]

LISRE [CHAR (2)]

AUFAR [CHAR (4)]

BEKTY [CHAR (4)]

KSBEK [CHAR (6)]

EKORG [CHAR (4)]

EKGRP [CHAR (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

MELAK [UNIT (3)]

MELRA [UNIT (3)]

ADDIBELNR [CHAR (10)]

PLTYP [CHAR (2)]

EKERV [CHAR (2)]

KSCHL_PERC [CHAR (4)]

KSCHL_VAL [CHAR (4)]

MEDIA_TYPE [CHAR (4)]

CUSTOMER_TYPE [CHAR (4)]

REF_PROMO [CHAR (10)]

RDMT_CUST_TYPE

MANDT [CLNT (3)]

CUSTOMER_TYPE [CHAR (4)]

 BIW_WAKH_S-CUSTOMER_TYPE = RDMT_CUST_TYPE-CUSTOMER_TYPE 

0..N

0..N

RDMT_MED_TYPE

MANDT [CLNT (3)]

MEDIA_TYPE [CHAR (4)]

 BIW_WAKH_S-MEDIA_TYPE = RDMT_MED_TYPE-MEDIA_TYPE 

0..N

0..N

T000

MANDT [CLNT (3)]

 BIW_WAKH_S-MANDT = T000-MANDT 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 BIW_WAKH_S-MELAK = T006-MSEHI 

0..N

0..N

 BIW_WAKH_S-MELRA = T006-MSEHI 0..N

0..N

T024

MANDT [CLNT (3)]

EKGRP [CHAR (3)]

 BIW_WAKH_S-EKGRP = T024-EKGRP 
0..N

0..N

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 BIW_WAKH_S-EKORG = T024E-EKORG 

0..N

0..N

T189

MANDT [CLNT (3)]

PLTYP [CHAR (2)]

 BIW_WAKH_S-PLTYP = T189-PLTYP 

0..N

0..N

T620

MANDT [CLNT (3)]

AUFAR [CHAR (4)]

 BIW_WAKH_S-AUFAR = T620-AUFAR 

0..N

0..N

T626

MANDT [CLNT (3)]

AAVIT [CHAR (4)]

 BIW_WAKH_S-BEKTY = T626-AAVIT 
0..N

0..N

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

 BIW_WAKH_S-KSBEK = T683-KALSM 0..N

0..N T685

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

 BIW_WAKH_S-KSCHL_PERC = T685-KSCHL 

0..N

0..N

 BIW_WAKH_S-KSCHL_VAL = T685-KSCHL 

0..N
0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 BIW_WAKH_S-WAELA = TCURC-WAERS 

0..N

0..N

 BIW_WAKH_S-WAERA = TCURC-WAERS 

0..N

0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 BIW_WAKH_S-VKORG = TVKO-VKORG 

0..N

0..N

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 BIW_WAKH_S-VTWEG = TVTW-VTWEG 

0..N

0..N

TWAA

MANDT [CLNT (3)]

AKART [CHAR (4)]

 BIW_WAKH_S-AKART = TWAA-AKART 

0..N

0..N

TWEV

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

EKERV [CHAR (2)]

 BIW_WAKH_S-EKERV = TWEV-EKERV 

0..N

0..N

TWLV

MANDT [CLNT (3)]

LSTFL [CHAR (2)]

 BIW_WAKH_S-LISRE = TWLV-LSTFL 

1..N

{0,1}

TWTY

MANDT [CLNT (3)]

AKTYP [CHAR (4)]

 BIW_WAKH_S-AKTYP = TWTY-AKTYP 

0..N

0..N

WAKH

MANDT [CLNT (3)]

AKTNR [CHAR (10)]

 BIW_WAKH_S-REF_PROMO = WAKH-AKTNR 

0..N

0..N

 BIW_WAKH_S-VGLAK = WAKH-AKTNR 

0..N

0..N


